
   

Supplementary Material 
1 Mediation models 

 

1.1 Mediation: Social Embeddedness on academic achievement via successful academic help-seeking 

 

 Chemistry subsample Civil engineering subsample 

 Coeff. SE Test p Coeff. SE Test p 

a 0.203 0.143 t(47) = 1.42 .162 0.436 0.102 t(78) = 4.28 < .001 

b -0.102 0.148 t(47) = -0.69 .495 -0.021 0.126 t(77) = -0.16 .870 

a*b 0.0003 0.050 [-0.10; 0.12]  -0.005 0.053 [-0.11; 0.11]  

c’ 0.068 0.150 t(46) = 0.46 .650 0.060 0.126 t(77) = 0.48 .635 

c 0.048 0.146 t(47) = 0.33 .745 0.051 0.113 t(78) = .45 .652 

 R2a = .041, F(1, 47) = 2.015, p = .162 

R2bc’ = .012, F(2, 46) = 0.284, p = .754 

R2a = .190, F(1, 78) = 18.32, p = .053 

R2bc’ = .003, F(2, 77) = 0.115, p = .892 

*p ≤ .05; **p ≤ .01; ***p ≤ .001 

 

  

Academic help-seeking 

Academic achievement Social embeddedness 

C: Chemistry  E: Engineering 

C: a = 0.203 (n.s.) 
E: a = 0.436 *** 

C: b = -0.102 (n.s.) 
E: b = -0.021 (n.s.) 

C: c’ = 0.068 (n.s.), c = 0.048 (n.s.) 
E: c’ = 0.060 (n.s.), c = 0.051 (n.s.) 
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1.2 Mediation: Group Awareness on academic achievement via successful academic help-seeking 

 

 Chemistry subsample Civil engineering subsample 

 Coeff. SE Test p Coeff. SE Test p 

a 0.283 0.140 t(47) = 2.02 .049 0.460 0.101 t(78) = 4.574 < .001 

b -0.090 0.153 t(46) = -0.59 .561 0.002 0.128 t(77) = 0.015 .988 

a*b -0.021 0.057 [-0.15; 0.09]  0.004 0.059 [-0.11; 0.12]  

c’ 0.007 0.153 t(46) = 0.44 .966 0.008 0.128 t(77) = 0.06 .951 

c -0.019 0.146 t(47) = -0.13 .899 0.009 0.113 t(78) = .077 .939 

 R2a = .080, F(1, 47) = 4.083, p = .049 

R2bc’ = .01, F(2, 46) = 0.18, p = .836 

R2a = .212, F(1, 78) = 20.92, p < .001 

R2bc’ < .001, F(2, 77) = .003, p = .997 

*p ≤ .05; **p ≤ .01; ***p ≤ .001 

 

  

Academic help-seeking 

Academic achievement Group awareness 

C: Chemistry  E: Engineering 

C: a = 0.283* 
E: a = 0.460 *** 

C: b = -0.090 (n.s.) 
E: b = -0.002 (n.s.) 

C: c’ = 0.007(n.s.), c = -0.019 (n.s.) 
E: c’ = 0.008 (n.s.), c = 0.009 (n.s.) 
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1.3 Mediation: Social Embeddedness on dropout intention via successful academic help-seeking 

 

 

 Chemistry subsample Civil engineering subsample 

 Coeff. SE Test p Coeff. SE Test p 

a 0.200 0.140 t(47) = 1.42 .162 0.440 0.100 t(78) = 4.28 <.001 

b -0.140 0.150 t(46) = -1.00 .324 0.100 0.130 t(77) = 0.76 .447 

a*b -0.030 -0.050 [-0.23; 0.02]  0.040 0.040 [-0.05; 0.17]  

c’ -0.188 0.145 t(46) = -1.29 .202 -0.149 0.125 t(77) = -1.19 .239 

c -0.218 0.142 t(47) = -1.53 .133 -0.107 0.113 t(87) = -0.95 .344 

 R2a = .041, F(1, 47) = 2.015, p = .162 

R2bc’ = .068, F(2, 46) = 1.664, p = .201 

R2a = .190, F(1, 78) = 18.32, p = .053 

R2bc’ = .019, F(2, 77) = 0.743, p = .479 

*p ≤ .05; **p ≤ .01; ***p ≤ .001 

 

 

Academic help-seeking 

Dropout intention Social embeddedness 

C: Chemistry  E: Engineering 

C: a = 0.200 (n.s.) 
E: a = 0.440 *** 

C: b = -0.140 (n.s.) 
E: b = 0.100 (n.s.) 

C: c’ = -0.188 (n.s.), c = -0.218 (n.s.) 
E: c’ = -0.149 (n.s.), c = -0.107 (n.s.) 


